0525

Mchro
550

maticity (X, y)

Ostwaldcolours O, Yy\y=100
M,,.max (m) chromatic value, D65

Name and spectral range

R 561_770 Y, 520_770
Lm Gp 475573 G 380561

X=95,04,Y,=100,00Z,~108,89 B,

x4=0,3127y,,=0,3290 L0
Ao=(@g-[80,*a0,y*30 1) Y.
Bo=(bo[bo,r+bo,y*+bo,gdf Y @

ag =agg [x/y] 65
b = byo [z

5753 1 380 520 M, 573 475 4
ay =1, byp=-0,4 A
1 1 LO
n=D65 4o ' 40
2628 ag,y=ay(Y/Y1g-1)
9%95¢,E b, y=boy(Y/Y1g-1)
a,,=0,000,5,,=0,000 r 34
a9,4=0,000,b 4=0,000
CIE 1931 X Ostwaldcolours Og, Y\\=100 6
max (m) chromatic value, D65 T-40
0,6 0.8 10 chromatic value Ay, Bg)
DE381-1A_1 DE381-2A_1
Xw=95,04,Y,,=100,00Z,,=108,89 X,=95,04Y,,=100,00Z,-108.89 B,
%w=0,3127y,=0,3290 Xy=0,3127y,,=0,3290 E
Ar=(ar~[ag n+ay yt+ag al) Y Ax=(ay[ag n+ay, y*ap al) Y
By=(1-[by n+by y+by al) Y B;=(b—[by 02 y+02 Al) Y
8 =ay[(x-0,179] g5 2y = a0 [(x=0,17D/y] 4
by =bgo [y bs=bzg [(mp1x+bp£/y]
0= 1, byo=-0,4 2,0= 1, byo=-0,85 93 e A
mp1=1,000,b,=0,171 n o mp;=-0,169,bp1=0,389 ” N 2
n =D65 _‘io § 4'0 n = D65 _4'0 58 1 4r0
ay,y=ay(Y/Y1g-1) a5 y=agy(Y/Y1g-1) 2 6 34
by y=boy(Y/Y1g-1) by v=boy(Y/Y1g-1)
,,=0,000,5,,=0,000 r 34 a,,=0,000,5,,=0,000 T
ay 4=0,000,b; 5=0,000 a,4=0,000,b 5=0,000
Ostwaldcolours O, Yyy=100 Ostwaldcolours O, Yy\=100
max (m) chromatic value, D65 r—40 max (m) chromatic value, D65 T-40
chromatic value A4, B;) chromatic value (A,, Bo)
DE381-3A_1 DE381-4A_1
X,=95,04,Y,,=100,00Z,~108.89 B, X,=95,04Y,,=100,00Z,-108.89 B,
%w=0,3127y,,=0,3290 210 Xy=0,3127y,,=0,3290 210
Ag=(az-[ag ytag y+agal) Y As=(ag-[ag ntas,y+asal) Y
Bg=(bg-[bg ntb3 y+b3 Al) Y B,4=(b4~[Dy, 7+by y+by l) Y
a3 =250 [(x-0,17D/y] F93 75 83 =20[(x-0,179h] +
b3=byg [(Mp1x+bp1)/y] bs=byo [(Mp1x-+bp1)/y] 5
ap=1 bp=-04 65 1 a0=1, byo=-04 65 3 A
Mp1=—0,974,b,=0,658 ) 3 mp1=-0,169,bp1=0,389 ) AR
n=D65 —40 ' 40 n=D65 _40 ' ' 40
a3 y=ay(Y/Y1g-1) & 3y, y=agy(Y/Y1g-1) 2l 34
b3 v=b,y(Y/Y1g-1) 21 ¢ | by y=boy(Y/Y1g-1) T
a,y=0,000,5,y=0,000 apy=0,000,b,y=0,000
ag 4=0,000,b5,,=0,000 a, 4=0,000,b4 5=0,000
Ostwaldcolours O, Yyy=100 Ostwaldcolours O, Yy=100
max (m) chromatic value, D65 T-40 max (m) chromatic value, D65 T-40
chromatic value (Ag, B3) chromatic value (A4, Bs)
DE381-5A_1 DE381-6A_1
X,=95,04,Y,,=100,00Z,~108.89 B, X,=95,04Y,,=100,00Z,-108.89 B,
%w=0,3127y,,=0,3290 410 Xy=0,3127y,,=0,3290 210
As=(35[35,1*35,y*a5,a]) Y Ae=(36~{36,1*35,y*35l) Y
Bs=(5-[bs n+bs y+0s5 Al) Y Bg=(b5~[Pg 10 y+05 Al) Y
85=8,,{(+8,61x~7,19/-0,26, 93 g = a0 [X/y] 93 g
bs=by,[(+1,99+3,86/¢3 40)H] 78 bg=bao [(Mp1x+0p1)/y]
ay = 0,10,bp, = 0,10 ay0= 1, byo = ~0.65 4 A
Ag.6.v,R=475,503,574,494¢ E nm o Mp1=—0,974 by,=0.§ ) ) 6
n = D65 —40 8 40 n = D65 _40 ' ' 40
a5 y=ay(Y/Y1g-1) 2 ag y=apy(Y/Y1g-1) ] 34
bs y=boy(Y/Y1g~1) 2l o b, y=boy(Y/Y1-1) 2l &
a,y=0,000,5,y=0,000 apy=0,000,b,y=0,000
a5 4=0,000,b5 x=0,000 a5,4=0,000,b5 4=0,000
Ostwaldcolours O, Yyy=100 Ostwaldcolours O, Yy\=100
max (m) chromatic value, D65 T-40 max (m) chromatic value, D65 T-40

chromatic value (As, Bs)

chromatic value (Ag, Bg)

DE381-7A_1

DE381-8A_1




515 520 505 Ostwaldcolours O, Y\y=100 Xw=96,42,Y,,~100,00,2,,=82,49 BD
08 17 M, max (m) chromatic value, D50 X=0,3457y,,=0,3585 T40
510[¢ chromatlcny (x,y) Aq=(an-| +an o Y
y Name and spectral range 0_(30_[80'" %.v*80,])
Bo=(bo~[bo,ri+bo y+bo,al) Y
Rm 561_770 ¥, 520_770 a0l s oY) 5
Lm Gy 475 573 G, 380 561 39 =890 [XV] +
NGE7B, 380_520 M, 573_475 bg = bao [2M) 63
ay=1, byp=-0,4 4,
Ao
+ t t b
n = D50 -40 40
2628 2, y=ay(Y/Y1571) 7 %
9%95¢,E b, y=boy(Y/Y1g-1)
ayy=0,000,b,y=0,000 191 11
ag =0,000,by A=0,000
7 CIE 1931 X Ostwaldcolours O, Y\\=100
0 max (m) chromatic value, D50 T-40
0,0 0,2 04 0,6 0,8 10 chromatic value (Ao, Bp)
DE381-1A_1 DE381-2A_1
X,=96,42,Y,,~100,002,~8249 B, X4=96,42,Y,~100,007,=8249 B,
%y=0,3457y,,=0,3585 L Xy=0,3457y,,=0,3585 240
Ar=(ar~[ag n+ay yt+ag al) Y Ax=(ay[ag n+ay, y*ap al) Y
B1=(by—[by y+by y+by A) Y Bo=(by=[by +bs y+0y Al) Y
ag = a0 [(x-0,179y] 8 = a9 [(x-0,179/y] +
by =byo [ZA 63 =bs0 [(Mpx+bp1)/Y]
80= 1, byo=-0,4 80=1, by =-0,43 88 30 A
My;=1,000by; =017 , Mp=-0,169,bp;=0 389: ) 2
n = D50 —40 n = D50 _40 ' 19 AN 40
ay,y=ay(Y/Y1g-1) a5 y=agy(Y/Y1g-1) & Eg
by y=boy(Y/Y1g~1) by v=boy(Y/Y1g-1) 1
,,=0,000,5,,=0,000 a,,=0,000,5,,=0,000
ay 4=0,000,; 4=0,000 a, x=0,000,b; ,=0,000
Ostwaldcolours O, Yyy=100 Ostwaldcolours O, Yy\=100
max (m) chromatic value, D50 T-40 max (m) chromatic value, D50 T-40
chromatic value A4, B;) chromatic value (A,, Bo)
DE381-3A_1 DE381-4A_1
X,=96,42,Y,,~100,00Z,~8249 B, X4=96,42,Y,~100,007,8249 B,
%y=0,3457y,,=0,3585 240 Xy=0,3457y,,=0,3585 240
Ag=(ag-[ag n+ag y+ag al) Y Ag=(ag~[ag n+ay, y+ay Al) Y
B3=(bs[b3 b3 y+b3 al) Y B,4=(b4~[Dy, 7+by y+by l) Y
ag = ag [(x-0,171)/y] 1 a4 =ay[(x=0,17D/y] 4
b3=byg [(Mp1x+bp1)/y] 3 bs=byo [(Mp1x-+bp1)/y]
80=1, byp=-04 2 A a0=1bp=-04 63 88 80 A
Mp1=-0,974,00;=0.65863 3 Mp;=-0,169.bp;=0,389 , , R
t t b
n = D50 —40 36 40 n = D50 —40 ‘\159\ " e 0
a3 y=ay(Y/Y1g-1) o 11 3y, y=agy(Y/Y1g-1)
b3 v=b,y(Y/Y1g-1) I by y=boy(Y/Y1g-1) 1
,,=0,000,5,,=0,000 a,,=0,000,5,,=0,000
a3 4=0,000,b3 4=0,000 a4, x=0,000,b, ,=0,000
Ostwaldcolours O, Yyy=100 Ostwaldcolours O, Yy=100
max (m) chromatic value, D50 T-40 max (m) chromatic value, D50 T-40
chromatic value (Ag, B3) chromatic value (A4, Bs)
DE381-5A_1 DE381-6A_1
X,=96,42,Y,,~100,00Z,~8249 B, X4=96,42,Y,,~100,007,=82,49 B,
Xy~=0,3457y,,~0,3585 +40 Xy,=0,3457y,,=0,3585 +40
As=(a5-[as5 n+as y+as al) Y As=(ag-[g n+3g,y*ag,Al) Y
Bg=(b5[bs n+bs y+bs Al) Y Bg=(bg[bg,ri+b v+bs Al) Y
a5=ap,{(+8,61x~7,1%-0,26)4] + ag =y [x/y] +
b5=b2x[(+1,99<+3,86/—2,4 % > bs=b,0 [(Mp1X+bp1)/y] - 20
oy = 0,105, = 0,10 63 A ay0=1, byg=-0,4 A
)\B 6,vR=475,503,574,493¢.E nm 4 5 Mpy=-0,974,0p; =68 , , 6
n = D50 _40 ) 40 n=D50 _40 ) ) 3
a5 y=apy(Y/Y1g-1) 19 1 36 ag y=apy(Y/Y1g~1) q e 11
bs y=boy(Y/Y1g~1) -+ b, y=boy(Y/Y1-1) AL
,,=0,000,5,,=0,000 a,,=0,000,5,,=0,000
a5 4=0,000,b5 ,=0,000 a5,4=0,000,b5 4=0,000
Ostwaldcolours O, Yyy=100 Ostwaldcolours O, Yy=100
max (m) chromatic value, D50 T-40 max (m) chromatic value, D50 T-40

chromatic value (As, Bs)

chromatic value (Ag, Bg)

DE381-7A_1

DE381-8A_1




515 520 505 Ostwaldcolours O, Y\y=100 X,=100,93,Y,,=100,00,2,,=64,68 BD
05 d e "“hfﬁnﬂ";%.ﬁ.?y"’(”x‘ay‘f vee e AL T
510/ Me =]
y Name and spectral range étg;o_{zg":zgvizgﬂi i
Ry 561_770 ¥, 520_770 070 0.nTR0, YR,
Lm Gy 475 573 G, 380 561 ag = ao [x/y] 5
NS Bm 380_520 M, 573_475 by = bio [bZM 0460 78
a0 =1, b0 =-0,
A -\ Ao
n = P40 _4'0 6 ! ! 4r0
. 2750 ag,y=ay(Y/Y1g-1) 2 939
9495 E Bo,y=by(Y/Y1g-1) 16|
ayy=0,000,b,y=0,000
ag =0,000,by A=0,000
g CIE 1931 X Ostwaldcolours Og, Y\y=100
0 max (m) chromatic value, P40 T-40
0,0 0,2 0,4 0,6 0,8 1,0 chromatic value (Ag, B)
DE381-1A_1 DE381-2A_1
X,=100,93,,100,007,64,68 B, X,=100,98,,~100,007,6468 B,
Xu=0,3799,,=0,3764 E Xw=0,3799y,,=0,3764 T 40
Ar=(ar~[ag n+ay yt+ag al) Y Ax=(ay[ag n+ay, y*ap al) Y
By=(by=[by ntby y+by al) Y Bo=(ba-[by 1tz y+bo Al) Y
a1 =ay[(x-0,179H] + 8 = a9 [(x-0,179/y] +
=hyo[2/M] 78 83 =bs0 [(Mpx+bp1)/Y]
a=1, by=-04 60 X 0= 1, by= -0, F A
mr1=1,000,by;=0,171 : : o Mp1=-0,169,001=0,33\58 8 z
n = P40 —40 A 40 n = P40 _40 ‘\]C.>6~ éi: 49
ay,y=ay(Y/Y1g-1) 39 a5 y=agy(Y/Y1g-1)
by y=boy(Y/Y1g~1) 16 | i by v=boy(Y/Y1g-1) 1
,,=0,000,5,,=0,000 a,,=0,000,5,,=0,000
ay 4=0,000,; 4=0,000 a, x=0,000,b; ,=0,000
Ostwaldcolours O, Yyy=100 Ostwaldcolours O, Yy\=100
max (m) chromatic value, P40 T-40 max (m) chromatic value, P40 T-40
chromatic value A4, B;) chromatic value (A,, Bo)
DE381-3A_1 DE381-4A_1
X,=100,93,,100,007,=64,68 B, X,=100,98,,~100,007,64,68 B,
Xy=0,3799,,=0,3764 X0 Xw=0,3799y,,=0,3764 E
Ag=(ag-[ag n+ag y+ag al) Y Ag=(ag~[ag n+ay, y+ay Al) Y
Bg=(bg-[bg ntb3 y+b3 Al) Y By=(bg~[Dg n+by y+bg Al) Y
ag = ay[(x-0,17D/y] + ay =2y [(x-0,171/y] +
b3=byo [(Mp1x+bp1)/y] =50 [(Mp1x+bp1)/Y]
80=1, byp=-04 /—E\% A =1, by=-04 A
Mp1=-0,974,b,=0.65860 ¢ 78 , 3 mp1=-0,169,001=0.339 56 ,’® 83, o
n= P40 —40 A ! /%1'/539 40 n = P40 —40 16 21 B 40
a3 y=ay(Y/Y1g-1) 16 3y, y=agy(Y/Y1g-1) 39
b3 v=b,y(Y/Y1g-1) 1 by y=boy(Y/Y1g-1) 1
,,=0,000,5,,=0,000 a,,=0,000,5,,=0,000
a3 4=0,000,b3 4=0,000 a4, x=0,000,b, ,=0,000
Ostwaldcolours O, Yyy=100 Ostwaldcolours O, Yy=100
max (m) chromatic value, P40 T-40 max (m) chromatic value, P40 T-40
chromatic value (Ag, B3) chromatic value (A4, Bs)
DE381-5A_1 DE381-6A_1
X,=100,93,,100,007,64,68 B, X=100,93,,=100,007,64,68 B,
Xy=0,3799,,=0,3764 X0 X=0,3799y,,=0,3764 240
As=(a5-[as5 n+as y+as al) Y As=(ag-[g n+3g,y*ag,Al) Y
Bs=(bs—[bs n+bs y+0s ) Y Bg=(bs~[Dg,n+bs y*+0p Al) Y
85=8,,{(+8,61x~7,19/-0,26)4] + g = a0 [X/y] +
b5=b2x[(+1,99<+3,86/—2,40) be=bo [(Mp1X+bp)/y]
=0,10by,=0,10 g9 # 83 a0=1, byp=-04 83 A A
)\B 6,vR=475,503,574.494¢ E nm Ny 5 Mp1=-0,974 by , 6
n = P40 —40 ' 40 n = P40 _40 T 21 O
a5 y=apy(Y/Y1g-1) 16 2L ag y=apy(Y/Y1g~1)
bs y=boy(Y/Y1g~1) 1 b, y=boy(Y/Y1-1) T
,,=0,000,5,,=0,000 a,,=0,000,5,,=0,000
a5 4=0,000,b5 ,=0,000 a5,4=0,000,b5 4=0,000
Ostwaldcolours O, Yyy=100 Ostwaldcolours O, Yy\=100
max (m) chromatic value, P40 T-40 max (m) chromatic value, P40 T-40

chromatic value (As, Bs)

chromatic value (Ag, Bg)

DE381-7A_1

DE381-8A_1




515 520 5p5  Ostwaldcolours O,
? M, max (m) chromatic
cs%omaticity (X, y)

Yi=100
value, AOO

Name and spectral range

Ry 561_770 ¥, 520_770
Lm Gy 475 573 G, 380 561
5B,,. 380 520 M, 573 475

X,=109,84Y,=99,997,~3558 B,
Xw=0,4475y,,=0,4074 p
Ag=(ag=[ag n*ag,y*ap,al) Y
Bo=(bo~[bo,ri+bo y+bo,al) Y
ag = ao [x/y] g
b = byo [z
ay=1, byp=-0,4

6%

n = A00 4084 7
ag,y=ay(Y/Y1g-1) 2
b, y=boy(Y/Y1g-1)
agy=0,000,b,y=0,000

a5,4=0,000,by 4=0,000

. CIE 1931 X Ostwaldcolours O, Y\\=100
0 max (m) chromatic value, AOO T-40
0,0 0,2 0,4 0,6 0,8 1,0 chromatic value Ag, B
DE381-1A_1 DE381-2A_1
X,=109,84Y,799,992,73558 B, X,=109,84Y,,799,997,=3558 B,
xy=0,4475y,,=0,4074 B! Xw=0,4475y,,=0,4074 T40

Ar=(ar~[ag n+ay yt+ag al) Y
B1=(by—[by y+by y+by A) Y
ay = ayo [(x-0,17D/y] i

r40
——;7\2)
' 51

by =byo [ZA

80= 1, byo=-0,4 ﬁ’/ A

mp1=1,000,b;=0,17156 {65 , R
} t t >

ay,y=ay(Y/Y1g-1) 2

by y=boy(Y/Y1g-1)
ayy=0,000,b,y=0,000

2y 4=0,000,b; ,=0,000
Ostwaldcolours O, Yyy=100

Ax=(ay[ag n+ay, y*ap al) Y
Bo=(by=[by +bs y+0y Al) Y

ay = a0 [(x—0,17D/y] i
=bs0 [(Mpx+bp1)/Y]

ay=1, byp=-0,4

mplz—o,leg,bm:@ﬁ, E
n = A00 -40

a5 y=agy(Y/Y1g-1)

by v=boy(Y/Y1g-1)
ay=0,000,b,y=0,000

a3 =0,000,b, 4=0,000
Ostwaldcolours O, Yy\=100

max (m) chromatic value, AOO T-40 max (m) chromatic value, AOO T-40
chromatic value A4, B;) chromatic value (A,, Bo)

DE381-3A_1 DE381-4A_1
X,=109,84Y,,799,992,73558 B, X,=109,84Y,,799,997,=3558 B,
Xy=0,4475y,,=0,4074 L40 X=0,4475y,,=0,4074 T 40
Ag=(ag-[ag n+ag y+ag al) Y Ag=(ag~[ag n+ay, y+ay Al) Y
Bg=(bg-[bg ntb3 y+b3 Al) Y By=(bg~[Dg n+by y+bg Al) Y
ag = ayq [(x=0,171)y] 1 ay = ay [(x=0,17D/y] 1
b3=byo [(Mp1x+bp1)/y] =50 [(Mp1x+bp1)/Y]
ay0= 1, byo= -0,4 ay0=1, byg=-0,4
Mp;=-0,974,bn,=0,658 87 345, As mm:—o,leg,bm:o,a,fgéi‘& ! E E As
n = A00 -40°5%5 12 40 n = A00 -40 33 40
a3 y=ay(Y/Y1g-1) 3y, y=agy(Y/Y1g-1)
b3 v=b,y(Y/Y1g-1) 1 by y=boy(Y/Y1g-1) 1
a,y=0,000,b,y=0,000 a,y=0,000,b,y=0,000
ag 4=0,000,b3 x=0,000 ay o=0,000,b4 ,=0,000
Ostwaldcolours O, Yyy=100 Ostwaldcolours O, Yy=100
max (m) chromatic value, AOO T-40 max (m) chromatic value, AOO T-40
chromatic value (Ag, B3) chromatic value (A4, Bs)

DE381-5A_1 DE381-6A_1
X,=109,84Y,,~99,992,-3558 B, X,=109,84Y,,799,99.7,=3558 B,
Xy=0,4475y,,=0,4074 L40 X=0,4475y,,=0,4074 140
As=(a5-[as5 n+as y+as al) Y As=(ag-[g n+3g,y*ag,Al) Y
Bs=(bs—[bs n+bs y+0s ) Y Bg=(bs~[Dg,n+bs y*+0p Al) Y
ag=a,,[(+8,61x~7,19/-0,26)4] 1 ag =y [x/y] +
bs=by,{(+1,9%+3,86/-2,40)4] bg=bao [(Mp1x+0p1)/y]
a5, = 0,10,b, = 0,10 A ay0=1, byg=-0,4 A
As.G.y,R=475,503,5758%lg E nm 87 5 mp;=-0,974,bp,=0,65; 87
n = A0O 10 T 1 Y n = A00 40
a5 y=apy(Y/Y1g-1) ag y=apy(Y/Y1g~1)
bs y=boy(Y/Y1g~1) 1 b, y=boy(Y/Y1-1) 1
,,=0,000,5,,=0,000 a,,=0,000,5,,=0,000
a5 4=0,000,b5 ,=0,000 a5,4=0,000,b5 4=0,000
Ostwaldcolours O, Yyy=100 Ostwaldcolours O, Yy\=100
max (m) chromatic value, AOO T-40 max (m) chromatic value, AOO T-40

chromatic value (As, Bs)

chromatic value (Ag, Bg)

DE381-7A_1

DE381-8A_1




Ostwaldcolours O,
M, max (m) chromatic
cs%omaticity (x,y)

0525

Yi=100
value, EO0

Name and spectral range
m Ry 561_770 ¥, 520_770

X,=100,00Y,,=100,00Z,=100,00 B,
Xy=0,3333y,,=0,3333 E
Aq=(ag=[ag n*ag,y*ap,al) Y
Bo=(bo=[o,+0o,y+bo,
ag = ao [x/y]

Lm Gy 475 573 G, 380 561 64
578y, 380_520 M, 573_475 bg = bao [2M) 5
ay =1, byp=-0,4
Ao
. . N
n = EO00 _4'0 ! 4r0
2628 ag,y=ay(Y/Y1g-1)
9%95¢,E b, y=boy(Y/Y1g-1) 35
ayy=0,000,b,y=0,000
ag =0,000,by A=0,000 4
CIE 1931 X Ostwaldcolours O, Y\\=100
max (m) chromatic value, EOO T-40
0,6 0.8 10 chromatic value Ay, Bg)
DE381-1A_1 DE381-2A_1
X=100,00,Y,,=100,00,2,,=100,00 81 X,=100,00,Y,,=100,00,2,,=100,00 B2
xy=0,3333y,,=0,3333 +40 X=0,3333y,,~0,3333 +40
Ar=(ar~[ag n+ay yt+ag al) Y o5 Ax=(ay[ag n+ay, y*ap al) Y
By=(1-[by n+by y+by al) Y 80 B;=(b—[by 02 y+02 Al) Y
a1 =ay[(x-0,179H] 64 + 8 = a9 [(x-0,179/y] +
by =byo [ZA D 0,=byo [(Mp1x+bpy)/y]
a0=1, by =-0.4 ay0=1, byp=-084 C&\%\\ A
my1=1,000,b5;=0,171 \ \ M Mp1=-0,169,bp1=0,3890\__ -, ) 2
n = E00 -0 [ ' 40 n=E00 -40 e d TN\
ay,y=ay(Y/Y1g-1) a5 y=agy(Y/Y1g-1) 54 35
by y=boy(Y/Y1g~1) | 35 by v=boy(Y/Y1g-1) 1
a,y=0,000,5,,=0,000 apy=0,000,5,,=0,000
ay o=0,000,b; x=0,000 ap,4=0,000,b, 5=0,000
Ostwaldcolours O, Yyy=100 Ostwaldcolours O, Yy\=100
max (m) chromatic value, EOO T-40 max (m) chromatic value, EOO T-40
chromatic value A4, B;) chromatic value (A,, Bo)
DE381-3A_1 DE381-4A_1
X,=100,00,Y,,=100,00Z,~100,00 B, X,=100,00,Y,,=100,00Z,,~100,00 B,,
%y=0,3333y,,=0,3333 240 Xy=0,3333y,,=0,3333 240
Ag=(ag-[ag n+ag y+ag al) Y Ag=(ag~[ag n+ay, y+ay Al) Y
Bg=(bg-[bg ntb3 y+b3 Al) Y By=(bg~[Dg n+by y+bg Al) Y
ag = ay[(x-0,17D/y] ay =2y [(x-0,171/y] +
b3=byo [(Mp1x+bp1)/y] 95 80 =50 [(Mp1x+bp1)/Y]
a0=1 bp=-04 ¢, 2 A 80=1, byp=-0,4 6‘:[/_‘ 9 g0 A
Mp1=-0,974 by,=0,658 ) ) 3 Mp;=-0,169 bpy=0,389 ) ) R
n = E00 40 ' "] 40 n=E00 40 & g 0
a3 y=ay(Y/Y1g-1) 3y, y=agy(Y/Y1g-1) L a 35
b y=boy(Y/Y1g-1) 19 4 by y=boy(Y/Y1g-1) T
a,y=0,000,5,,=0,000 ay=0,000,b,y=0,000
ag 5=0,000,b3 x=0,000 ay,4=0,000,b, ,=0,000
Ostwaldcolours O, Yyy=100 Ostwaldcolours O, Yy=100
max (m) chromatic value, EO0 T-40 max (m) chromatic value, EO0 T-40
chromatic value (Ag, B3) chromatic value (A4, Bs)
DE381-5A_1 DE381-6A_1
X,=100,00,Y,,=100,00Z,,~100,00 B, X=100,00,Y,,~100,00Z,,~100,00 B,
%y=0,3333y,,=0,3333 240 Xy=0,3333y,,=0,3333 240
As=(a5-[as5 n+as y+as al) Y As=(ag-[g n+3g,y*ag,Al) Y
Bs=(bs—[bs n+bs y+0s ) Y Bg=(bs~[Dg,n+bs y*+0p Al) Y
85=8,,{(+8,61x~7,19/-0,26) g = a0 [X/y] 3
bg=by,(+1,99¢+3,86/=2, 80 bg=b20 [(Mp1x+bp1)/¥] 9% PO
8y = 0,10,0p, = 0,10 A ax0=1, byp=-04, A A
\g,G.v,R=475,503,574,494¢ E nm 4 5 Mp1=-0,974 b,=0.6! ) ) 6
n = E00 _40 7 ) 40 n = E00 _40 ) ) '%5
a5 y=apy(Y/Y1g-1) 35 ag y=apy(Y/Y1g~1) 7
bs y=boy(Y/Y1g~1) 19 4 b, y=boy(Y/Y1-1) 19 4
a,y=0,000,5,,=0,000 apy=0,000,b,y=0,000
a5 4=0,000,b5 5=0,000 a5,4=0,000,b5 4=0,000
Ostwaldcolours O, Yy=100 Ostwaldcolours O, Yy\=100
max (m) chromatic value, EOO T-40 max (m) chromatic value, EOO T-40

chromatic value (As, Bs)

chromatic value (Ag, Bg)

DE381-7A_1

DE381-8A_1



515 520 5p5  Ostwaldcolours O, Y\y=100
08 17 M, max (m) chromatic value, CO0
510[¢ chromatlcny (x,y)
y

Name and spectral range

Ry 561_770 ¥, 520_770
Lm Gy 475 573 G, 380 561
D578, 380_520 M, 573_475

X,9807Y,~100002,~11822 B,
%,=0,3100y,,=0,3161

Ao=(ag-[ag n+ao,y*ay,
Bo=(b~[bg,+bo £
29 =ago [x/y]

by = bao [2/4]

ay =1, byp=-0,4

Ao
, N
n=Coo 4o 40
2628 ag,y=ay(Y/Y1g-1)
9%95¢,E b, y=boy(Y/Y1g-1)
agy=0,000,b,y=0,000 o
ag =0,000,0 4=0,000
’ CIE 1931 X Ostwaldcolours O, Y\y=100
0 max (m) chromatic value, CO0
0,0 0,2 0,4 0,6 0,8 1,0 chromatic value (Ag, B)
DE381-1A_1 DE381-2A_1
X,=9807,~100.002,-11822 B, Xu=98,07,Y,~100,002,~118.22 B,
¥yy=0,3100y,,=0,3161 %,=0,3100y,,=0,3161 40
Ar=(ar~[ag n+ay yt+ag al) Y 7 Ax=(ay[ag n+ay, y*ap al) Y
By=(1-[by n+by y+by al) \és B;=(b—[by 02 y+02 Al) Y
ay = ago [(x-0,172/y] AL a =2y [(x-0,171)/y]
=byo[2/y] 2 by=byg [(mP1X+bP§)éY
ay=1, byp=-0,4 azo 1 bZO_ -0 A
1 2

m1=1,000,by; =017 : \

n=CO00 —40
ay,y=ay(Y/Y1g-1)

by y=boy(Y/Y1g~1)
ay=0,000,b,,=0,000
a3 4=0,000,b; 4=0,000
Ostwaldcolours O, Yyy=100

.
.
\d\
B
N
o

)
n= COO _40 Y ) 4r0
3 y=8py(Y/Y1g71) 2|

3 6 34
by v=boy(Y/Y1g-1)
a,,=0,000,5,,=0,000
a, x=0,000,b; ,=0,000
Ostwaldcolours O, Yy\=100

max (m) chromatic value, CO0 r—40 max (m) chromatic value, CO0 T-40
chromatic value A4, B;) chromatic value (A,, Bo)

DE381-3A_1 DE381-4A_1
X,,=98,07,Y,,=100,007,711822 B, X,=98,07,Y,=100,007,7118,22 B,
X=0,3100y,,=0,3161 L40 X=0,3100y,,=0,3161 T 40
As=(ag-[ag i+ag y+agal) Y As=(ag~[ag ntag ytag al) Y

5
Bg=(bg-[bg ntb3 y+b3 Al) Y
ag = ay[(x-0,17D/y]
b3=byo [(Mp1x+bp1)/y]
ay=1, byp=-0,4
mMp;=-0,974,bp,=0, 658

//- 93 78
: :

n = C00

ag y=ay(Y/Y1g- 1)

b y=boy(Y/Y1g~1
ay=0,000,b,,=0, ooo
25,4=0,000,05,4=0,000

Ostwaldcolours O, Yyy=100

(e

B,=(b4=[Dg 04 y+04 Al) Y
ay = a0 [(x-0,172/y] 4L
bs=byo [(Mp1x-+bp1)/y]
ay =1, byp=-0,4

65/-/" Eaps
Mp;=-0,169.bp;=0,389 \ ;) Aﬁ"
n = Co00 4o A" ' 40
3y, y=agy(Y/Y1g-1) 2l o 34

by y=boy(Y/Y1g-1)

ay=0,000,5,y=0,000

a, 5=0,000,b, x=0,000
Ostwaldcolours O, Yy=100

max (m) chromatic value, CO0 T-40 max (m) chromatic value, COO T-40
chromatic value (Ag, B3) chromatic value (A4, Bs)

DE381-5A_1 DE381-6A_1
X,=98,07,Y,,=100,007,711822 B X,=98,07,Y,,=100,007,7118,22 B,
X=0,3100y,,=0,3161 L40 X=0,3100y,,=0,3161 140
As=(35[35,1*35,y*a5,a]) Y Ae=(36~{36,1*35,y*35l) Y
Bs=(bs—[bs b5 v+bs Al) Y Bg=(Pg—[bg n+bs,y+0s Al) Y
a5=ap,((+8,61x~7,19-0, 2 L 3G = ag [X/y] 18
be=zd (41,9913 868, E bs=Dag [(Mox+bpy)1y

ox = 0,10,05, = 0,10 5 ay0= 1, byo= -08° 4
)\B 6,v,R=475,503,574,494¢.E nm , 5 mMp1=-0,974 b, =0.§
n=C00 ) 40 n=C00 _40
a5 y=agy(Y/Y: 18_1) ag y=apy(Y/Y1g~1)
bs y=boy(Y/Y1g~1) 14, 34 b, y=boy(Y/Y1-1)

a,y=0,000,5,,=0,000

a5, 4=0,000,bs ,=0,000
Ostwaldcolours O, Yyy=100
max (m) chromatic value, CO0 T-40
chromatic value (Ag, Bs)

a,y=0,000,b,y=0,000
a5 5=0,000,b5 x=0,000
Ostwaldcolours O, Yy\=100
max (m) chromatic value, CO0
chromatic value (Ag, Bg)

DE381-7A_1

DE381-8A_1



515 520 505 Ostwaldcolours O, Yy\y=100 X,=102,06,Y,,=100,00,2,,=81,06 BD
08 17 M, max (m) chromatic value, P00 X=0,3604y,,~0,3531 T40
510[¢ chromatlcny (x,y) Aq=(an-| +an o Y
y Name and spectral range 0_(30_[80'" %.v*80,])
Bo=(bo~[bo,ri+bo y+bo,al) Y
Rm 561_770 ¥, 520_770 a0l s & i
Lm Gy 475 573 G, 380 561 39 =890 [XV] E
N8 380_520 M, 573_475 b = byo [z 61
g 2,0= 1, byp= -0,4
Ao
+ t t b
n = P00 -40 40
Q628 a9 y=apy(Y/Y1g-1) 6
9%95¢,E b, y=boy(Y/Y1g-1) &
apy=0,000,5,y=0,000 17T 10
30,4=0,000,by 4=0,000
7 CIE 1931 X Ostwaldcolours Og, Y\\=100
0 max (m) chromatic value, POO T-40
0,0 0,2 0,4 0,6 0,8 1,0 chromatic value (Ao, Bp)
DE381-1A_1 DE381-2A_1
X,=102,06,Y,,~100,007,=81,06 B, X,=102,06,,=100,007,~81,06 B,
%y=0,3604y,,=0,3531 L Xy=0,3604y,,=0,3531 240
Ar=(ar~[ag n+ay yt+ag al) Y Ax=(ay[ag n+ay, y*ap al) Y
By=(by=[by ntby y+by al) Y Bo=(ba-[by 1tz y+bo Al) Y
a1 =ay[(x-0,179H] 8 = a9 [(x-0,179/y] +
by = byo [z =020 [(Mp1X+bp1)/y]
ay =1, byp=-0,4 a0 =1, by=-0,61 W}s‘z\o\ A
mp1=1,000,br;=0, 17,1 , Mp1=-0,169,bp:=0,38N &5 , ) 2
n=P00 n=P00 _40 \.'\}i 23 4'0
3y, y=ay(Y/Y1g- 1) a5 y=agy(Y/Y1g-1) 0 38
by y=boy(Y/Y1g-1 by v=boy(Y/Y1g-1) 1
,,=0,000,,,=0, ooo a,,=0,000,5,,=0,000
ay 4=0,000,; 4=0,000 a, x=0,000,b; ,=0,000
Ostwaldcolours O, Yyy=100 Ostwaldcolours O, Yy\=100
max (m) chromatic value, POO T-40 max (m) chromatic value, POO T-40
chromatic value A4, B;) chromatic value (A,, Bo)
DE381-3A_1 DE381-4A_1
X,=102,06,Y,,~100,007,=81,06 B, X=102,06,,=100,007,~81,06 B,
Xy=0,3604y,,=0,3531 +40 X=0,3604y,,=0,3531 +40
Ag=(ag-[ag n+ag y+ag al) Y Ag=(ag~[ag n+ay, y+ay Al) Y
B3=(bs[b3 b3 y+b3 al) Y B,4=(b4~[Dy, 7+by y+by l) Y
ag = ay[(x-0,17D/y] + ay = a0 [(x-0,172/y] +
b3=byg [(Mp1x+bp1)/y] o bs=byo [(Mp1x-+bp1)/y]
30=1, by=-0,4 3 80=1byp=-04 61 89
Mp1=-0,974,r,=0,§5861 Ay Mp1=-0,169 bp;=0,369 \ 82 Ay
t t b
n = P00 —40 38 40 n = P00 —40 '\L 10 S 40
a3 y=ay(Y/Y1g-1) v 10 3y, y=agy(Y/Y1g-1) 38
b y=boy(Y/Y1g-1) T by y=boy(Y/Y1g-1) 1
,,=0,000,5,,=0,000 a,,=0,000,5,,=0,000
a3 4=0,000,b3 4=0,000 a4, x=0,000,b, ,=0,000
Ostwaldcolours O, Yyy=100 Ostwaldcolours O, Yy\=100
max (m) chromatic value, POO T-40 max (m) chromatic value, POO T-40
chromatic value (Ag, B3) chromatic value (A4, Bs)
DE381-5A_1 DE381-6A_1
X,=102,06,Y,,~100,007,=81,06 B, X=102,06Y,,=100,007,~81,06 B,
%y=0,3604y,,=0,3531 240 Xy=0,3604y,,=0,3531 240
As=(a5-[as5 n+as y+as al) Y As=(ag-[g n+3g,y*ag,Al) Y
Bs=(5-[bs n+bs y+0s5 Al) Y Bg=(b5~[Pg 10 y+05 Al) Y
as=ay,[(+8,61x-7,19/-0,26)4] 4 g = a0 [X/y] +
b5=b2x[(+1,99(+3,86_/—2,4 be=byg [(Mp1x+bp1)/y] 82
89 82
oy = 0,10, = 0,1061 A ay0=1, byg=-0,4 A A
)\B 6,v,R=475,503,574,494c, 5 nm 4 5 mMp;=-0,974 bm—éla \ \ 6
n=P00 —40 ' 40 n=P00 —40 . ' ' 188
a5 y=apy(Y/Y1g-1) 17 10 38 ag y=apy(Y/Y1g~1) & 10
bs y=boy(Y/Y1g~1) + b, y=boy(Y/Y1-1) aL
,,=0,000,5,,=0,000 a,,=0,000,5,,=0,000
a5 4=0,000,b5 ,=0,000 a5,4=0,000,b5 4=0,000
Ostwaldcolours O, Yy=100 Ostwaldcolours O, Yy\=100
max (m) chromatic value, POO T-40 max (m) chromatic value, POO T-40

chromatic value (As, Bs)

chromatic value (Ag, Bg)

DE381-7A_1

DE381-8A_1




0525

m L
h t 8
5{)oma\ icity (X, y)

Ostwaldcolours O, Y\y=100
M,..max (m) chromatic value, Q00

Name and spectral range
m Ry 561_770 ¥, 520_770
Lm Gy 475 573 G, 380 561
D\NS75B, 380 520 My, 573 475

Xu=97,93Y,~100,00,~118.95 B,
%,=0,3090y,,=0,3155

Ao=(ag-[ag n+ao,y*ay,
Bg=(bg—[bo, 0o, v
29 =ago [x/y]

by = bao [2/4]

ay =1, byp=-0,4

) )
n = Qo0 —40 '
ag,y=ay(Y/Y1g-1)

b, y=boy(Y/Y1g-1) Y
agy=0,000,b,y=0,000

ag =0,000,0 4=0,000

80=1, byp=-04

CIE 1931 X Ostwaldcolours O, Y\\=100
0 max (m) chromatic value, Q00
0,0 0,2 0,4 0,6 0,8 1,0 chromatic value (Ao, Bp)

DE381-1A_1 DE381-2A_1
Xy=97,93Y,=100,00Z,~118 95 B, X,=97,93Y,=100,00Z,-118 95 B,
%4=0,3090y,,=0,3155 Xy=0,3090y,,=0,3155 E
Ar=(ar~[ag n+ay yt+ag al) Y 81 Ax=(ay[ag n+ay, y*ap al) Y
B1=(by—[by y+by v+by A) Y Bo=(by=[by +bs y+0y Al) Y
a; =ay[(x-0,179] 66 1 a, = ay0 [(x=0,17D/y] 1
by =byo [ZA 2

0,=byo [(Mp1x-+bpg)/y] 93
2= 1, byo = -0, 81 A

myp1=1,000,b3=0,171 ! ! ot mp;=-0,169,bp1=0,389 9 o2

f t t b t b
n = Q00 —40 40 n = Qo0 40 N 40
ay,y=ay(Y/Y1g-1) a5 y=agy(Y/Y1g-1) 18 ¢ 34
by y=boy(Y/Y1g~1) 1 by v=boy(Y/Y1g-1) e
,,=0,000,5,,=0,000 33 a,,=0,000,5,,=0,000
ay 4=0,000,; 4=0,000 a, x=0,000,b; ,=0,000
Ostwaldcolours O, Yyy=100 Ostwaldcolours O, Yy\=100
max (m) chromatic value, Q00 -40 max (m) chromatic value, Q00 T-40
chromatic value (A;, B;) chromatic value (A,, Bo)

DE381-3A_1 DE381-4A_1
X,=97,93,Y,,~100,002,~118,95 B, X=97,93,Y,,~100,007,~118,95 B,
%y=0,3090y,,=0,3155 240 Xy=0,3090y,,=0,3155 240
Ag=(ag-[ag n+ag y+ag al) Y Ag=(ag~[ag n+ay, y+ay Al) Y
Bg=(bg-[bg ntb3 y+b3 Al) Y By=(bg~[Dg n+by y+bg Al) Y
ag = ayq [(x=0,171)y] 1 93 g1 ay = ay [(x=0,17D/y] 1
b3=byo [(Mp1x+bp1)/y] =50 [(Mp1x+bp1)/Y] 93
ap=1 byy=-04 66 2 a0=1, byo=-04 00 81 A
le=-O,974,bm=O,6'58 ' ' ?3 mp1=—0,169,bp1=0,3'89 ' 42 ?4
n = Q00 —40 40 n = Qo0 40 & 40
a3 y=ay(Y/Y1g-1) 33 3y, y=agy(Y/Y1g-1) 18 o 33
b y=boy(Y/Y1g-1) 1 by y=boy(Y/Y1g-1) +
a,y=0,000,b,y=0,000 18 6 a,y=0,000,b,y=0,000
a3 4=0,000,b3 4=0,000 a4, x=0,000,b, ,=0,000
Ostwaldcolours O, Yyy=100 Ostwaldcolours O, Yy\=100
max (m) chromatic value, Q00 T-40 max (m) chromatic value, Q00 T-40
chromatic value (Ag, B3) chromatic value (A4, Bs)
DE381-5A_1 DE381-6A_1

X,=97,93,Y,,~100,002,~118,95 B, X=97,93,Y,,100,007,=118,95 B,
%y=0,3090y,,=0,3155 240 Xy=0,3090y,,=0,3155 240
As=(a5-[as5 n+as y+as al) Y As=(ag-[g n+3g,y*ag,Al) Y
Bs=(bs—[bs n+bs y+0s ) Y Bg=(bs~[Dg,n+bs y*+0p Al) Y
ag=a,,[(+8,61x-7,19/-0,2 CERR o g = a0 [X/y] 93 83
bs=by,{(+1,9%+3,86/6@.§0)] bg=bao [(Mp1x+0p1)/y,
a5, = 0,10,b, = 0,10 5 A ay0= 1, byg = ~0@6 4 A
Ag,G,y,R=475,503,574,494¢ E nm ) D Mp;=-0,974,bp1=0.§ . . o
n=Qo0 —40 - ' 40 n = Qoo 40 ' ' 10
as y=ayy(Y/Y1g-1) ag y=agy(Y/Y1g-1) 7 33
bs v =by(Y/Y1g-1) 33 Bg,y=boy(Y/Y1g-1) |
a,y=0,000,b,y=0,000 6 a,y=0,000,b,y=0,000 18 6
a5 4=0,000,b5 ,=0,000 a5,4=0,000,b5 4=0,000
Ostwaldcolours O, Yyy=100 Ostwaldcolours O, Yy\=100
max (m) chromatic value, Q00 T-40 max (m) chromatic value, Q00 T-40

chromatic value (As, Bs)

chromatic value (Ag, Bg)

DE381-7A_1

DE381-8A_1



